

## FUZZY TRANSPOSITION HYPERGROUPS

G. CHOWDHURY

ABSTRACT. In this paper we introduce the notions of fuzzy transposition hypergroups and fuzzy regular relations and investigate their basic properties. We also study fuzzy quotient hypergroups of a fuzzy transposition hypergroup.

## 1. Introduction

Hyperstructure theory was born in 1934 [11], when F. Marty defined hypergroups and investigated their properties. Today hypergroups are widely studied from the theoretical point of view and for their application in to many fields. In 1965 [15] L. A. Zadeh introduced the notion of a fuzzy subset of a non-empty set  $X$ , as a function from  $X$  to  $[0, 1]$  and in 1971 [13] A. Rosenfeld defined the concept of a fuzzy group. Since then many papers have been published in the field of fuzzy algebra. Recently fuzzy set theory has been developed in the context of hyperalgebraic structure theory [1, 2, 5, 6, 7, 9, 14, 16, 17]. In [14] we generalized the notion of a semihypergroup  $H$  to a fuzzy semihypergroup by replacing  $P^*(H)$ , the set of all non-empty subsets of  $H$ , by  $F(H)$ , the set of all fuzzy subsets of  $H$ , and studied its basic properties. Moreover, this author introduced the notion of transposition hypergroups and studied its quotient space [8]. In this paper, we shall extend these ideas in the context of a fuzzy hyperalgebraic structure.

We first recall some definitions and theorems which will be used in the paper [3,4].

**Definition 1.1.** Let  $H(\neq \emptyset)$  be a set and  $P^*(H)$  be the family of all nonempty subsets of  $H$  and  $*$  a *hyperoperation* or a *join operation*, that is,  $*$  is a mapping from  $H \times H$  to  $P^*(H)$ . If  $(a, b) \in H \times H$ , its image under  $*$  is denoted by  $a * b$  or  $ab$ .

**Remark 1.2.** The hyperoperation can be extended to subsets of  $H$  in a natural way, so that  $A \cdot B$  or  $AB$  is given by

$$AB = \bigcup \{ab \mid a \in A, b \in B\}.$$

The notations  $aA$  and  $Aa$  are used for  $\{a\}A$  and  $A\{a\}$ , respectively. Generally, the singleton  $\{a\}$  is identified with its element  $a$ .

---

Received: April 2008; Revised: October 2008; Accepted: January 2009

*Key words and phrases:* Semihypergroup, Fuzzy semihypergroup, Fuzzy hypergroup, Fuzzy transposition hypergroup, Fuzzy subsemihypergroup, Fuzzy subhypergroup, Fuzzy closed set, Fuzzy reflexive subsemihypergroup, Fuzzy normal subsemihypergroup, Fuzzy regular relation, Fuzzy quotient hypergroup.

**Definition 1.3.** A hypergroupoid is a structure  $(H, \cdot)$ . If the hypergroupoid  $(H, \cdot)$  is associative, i.e.

$$x \cdot (y \cdot z) = (x \cdot y) \cdot z \text{ for all } x, y, z \in H,$$

it is called a semihypergroup.

**Definition 1.4.** A *hypergroup* is a semihypergroup such that

$$x \cdot H = H = H \cdot x \text{ for all } x \in H \text{ (reproduction axiom)}.$$

**Definition 1.5.** Let  $(H, \cdot)$  be a quasihypergroup. We define two hyperoperations  $/$ , called right extension and  $\backslash$ , called left extension on  $H$  by

$$(i) a/b = \{x \in H : a \in x \cdot b\} \text{ for all } a, b \in H$$

and

$$(ii) b \backslash a = \{x \in H : a \in b \cdot x\} \text{ for all } a, b \in H.$$

If  $A$  and  $B$  are two subsets of  $H$ , then  $A/B = \bigcup_{a \in A, b \in B} a/b$  and  $A \backslash B = \bigcup_{a \in A, b \in B} a \backslash b$ .

**Definition 1.6.** [8] A *transposition hypergroup* is a hypergroup such that

$$b \backslash a \cap c/d \neq \emptyset \implies (a \cdot d) \cap (b \cdot c) \neq \emptyset \text{ for all } a, b, c, d \in H \text{ (transposition axiom)}.$$

**Definition 1.7.** [8] Let  $(H, \cdot)$  be a hypergroup and  $K$  a nonempty subset of  $H$ . Then  $(K, \cdot)$  is a *subhypergroup* of  $H$  if  $K$  is a hypergroup under the hyperoperation  $\cdot$  restricted to  $K$ . It is clear that a subset  $K$  of  $H$  is a subhypergroup if and only if  $a \cdot K = K \cdot a = K$  for all  $a \in K$  under the hyperoperation on  $H$ . We write:  $K <_P H$ .

**Definition 1.8.** [8] Let  $(H, \cdot)$  be a hypergroup. A nonempty subset  $N$  of  $H$  is said to be closed if

$$N/N \subseteq N \text{ and } N \backslash N \subseteq N.$$

**Definition 1.9.** [8] Let  $(H, \cdot)$  be a hypergroup. A nonempty subset  $N$  of  $H$  is said to be a subsemihypergroup of  $(H, \cdot)$  if

$$N \cdot N \subseteq N.$$

**Definition 1.10.** [8] A subsemihypergroup  $(N, \cdot)$  of a hypergroup  $(H, \cdot)$  is said to be reflexive if

$$a \backslash N = N/a \text{ for all } a \in H.$$

## 2. Fuzzy Hyperoperations

**Definition 2.1.** [14] Let  $S$  be a non-empty set and  $F(S)$  denote the set of all fuzzy subsets of  $S$ .

A fuzzy hyperoperation on  $S$  is a mapping  $\circ : S \times S \mapsto F(S)$ . The image of  $(a, b)$  is denoted by  $a \circ b$ .

The set  $S$  together with a fuzzy hyperoperation  $\circ$  is called a fuzzy hypergroupoid.

**Definition 2.2.** [14] Let  $\mu, \nu$  be two fuzzy subsets of a fuzzy hypergroupoid  $(S, \circ)$ , then we define  $\mu \circ \nu$  as follows:

$$(\mu \circ \nu)(t) = \bigvee_{p, q \in S} (\mu(p) \wedge (p \circ q)(t) \wedge \nu(q)) \text{ for all } t \in S.$$

**Definition 2.3.** [14] A fuzzy hypergroupoid  $(S, \circ)$  is called a fuzzy semihypergroup if

$$(a \circ b) \circ c = a \circ (b \circ c) \quad \text{for all } a, b, c \in S.$$

**Comment 2.4.** [14] Let  $A$  and  $B$  be two subsets of a fuzzy hypergroupoid  $(S, \circ)$ , then

$$(A \circ B)(x) = \bigvee_{a \in A, b \in B} (a \circ b)(x) \quad \text{for all } x \in S.$$

**Definition 2.5.** [14] A fuzzy semihypergroup  $(S, \circ)$  is called a fuzzy hypergroup if

$$x \circ S = S \circ x = \chi_S, \quad \text{for all } x \in S,$$

where  $\chi_S$  is the characteristic function of the set  $S$ .

**Example 2.6.** [14] Define a fuzzy hyperoperation  $\circ$  on a non-empty set  $S$  by  $a \circ b = \chi_{\{a, b\}}$  for all  $a, b \in S$ , where  $\chi_{\{a, b\}}$  denotes the characteristic function of the set  $\{a, b\}$ . Then  $(S, \circ)$  is both a fuzzy semihypergroup and a fuzzy hypergroup.

**Example 2.7.** [14] Let  $S$  be a semigroup and define a fuzzy hyperoperation  $\circ$  on  $S$  by  $a \circ b = \chi_{ab}$ , for all  $a, b \in S$ , where  $\chi_{ab}$  is the characteristic function of the element  $ab$  in  $S$ . Then  $(S, \circ)$  is a fuzzy semihypergroup. Moreover, if  $S$  is a group then  $(S, \circ)$  is a fuzzy hypergroup.

### 3. Fuzzy Transposition Hypergroup

In this section we introduce two fuzzy hyperoperations  $/$  (right extension) and  $\backslash$  (left extension) on a fuzzy hyper structure  $(H, \circ)$  and study their algebraic properties. Then we introduce the concepts of fuzzy transposition hypergroups and fuzzy subhypergroups.

**Definition 3.1.** Let  $(H, \circ)$  be a fuzzy hypergroupoid. The fuzzy hyperoperations  $/$  (right extension) and  $\backslash$  (left extension) on  $H$  are defined by

$$(i) a/b(x) = (x \circ b)(a) \quad \text{for all } a, b, x \in H$$

and

$$(ii) b \backslash a(x) = (b \circ x)(a) \quad \text{for all } a, b, x \in H.$$

Let  $(H, \circ)$  be a fuzzy hypergroupoid. If  $\mu$  and  $\nu$  are two fuzzy subsets of  $H$ , then

$$\begin{aligned} a/\mu(x) &= \bigvee_{b \in H} (a/b(x) \wedge \mu(b)) = \bigvee_{b \in H} (x \circ b)(a) \wedge \mu(b) = (x \circ \mu)(a), \\ \mu \backslash a(x) &= \bigvee_{b \in H} (b \backslash a(x) \wedge \mu(b)) = \bigvee_{b \in H} (b \circ x)(a) \wedge \mu(b) = (\mu \circ x)(a), \\ \mu/a(x) &= \bigvee_{b \in H} (b/a(x) \wedge \mu(b)), \quad a \backslash \mu(x) = \bigvee_{b \in H} (a \backslash b(x) \wedge \mu(b)), \\ \mu/\nu(x) &= \bigvee_{a, b \in H} (a/b(x) \wedge \mu(a) \wedge \nu(b)), \quad \mu \backslash \nu(x) = \bigvee_{a, b \in H} (a \backslash b(x) \wedge \mu(a) \wedge \nu(b)). \end{aligned}$$

**Theorem 3.2.** Let  $(H, \circ)$  be a fuzzy hypergroup. Then, for all  $a, b, c \in H$ , we have

- (i)  $(a/b)/c = a/(c \circ b)$ ,    (i')  $c \backslash (b \backslash a) = (b \circ c) \backslash a$ ,
- (ii)  $(b \backslash a)/c = b \backslash (a/c)$ ,
- (iii)  $((a/b) \backslash a)(b) = 1$ ,    (iii')  $(a/(b \backslash a))(b) = 1$ ,

*Proof.* (i)  $((a/b)/c)(x) = \bigvee_{p \in H} (a/b(p) \wedge p/c(x)) = \bigvee_{p \in H} ((p \circ b)(a) \wedge (x \circ c)(p))$   
 $= ((x \circ c) \circ b)(a) = (x \circ (c \circ b))(a) = a/(c \circ b)(x)$ , for all  $x \in H$ .

(i')  $((c \setminus (b \setminus a))(x) = \bigvee_{p \in H} (c \setminus p(x) \wedge b \setminus a(p)) = \bigvee_{p \in H} ((c \circ x)(p) \wedge (b \circ p)(a))$   
 $= (b \circ (c \circ x))(a) = ((b \circ c) \circ x)(a) = (b \circ c) \setminus a(x)$ , for all  $x \in H$ .

(ii)  $((b \setminus a)/c)(x) = \bigvee_{p \in H} (b \setminus a(p) \wedge p/c(x)) = \bigvee_{p \in H} ((b \circ p)(a) \wedge (x \circ c)(p))$   
 $= (b \circ (x \circ c))(a) = ((b \circ x) \circ c)(a) = \bigvee_{p \in H} ((b \circ x)(p) \wedge (p \circ c)(a))$   
 $= \bigvee_{p \in H} (b \setminus p(x) \wedge a/c(p)) = b \setminus (a/c)(x)$ , for all  $x \in H$ .

(iii)  $(a/b) \setminus a(b) = \bigvee_{p \in H} (a/b(p) \wedge p \setminus a(b)) = \bigvee_{p \in H} ((p \circ b)(a) \wedge (p \circ b)(a))$   
 $= \bigvee_{p \in H} (p \circ b)(a) = (H \circ b)(a) = \chi_H(a) = 1$ .

(iii')  $(a/(b \setminus a))(b) = \bigvee_{p \in H} (a/p(b) \wedge b \setminus a(p)) = \bigvee_{p \in H} ((b \circ p)(a) \wedge (b \circ p)(a))$   
 $= \bigvee_{p \in H} (b \circ p)(a) = (b \circ H)(a) = \chi_H(a) = 1$ .  $\square$

We may generalize the above Theorem as follows:

**Theorem 3.3.** *Let  $(H, \circ)$  be a fuzzy hypergroup. Then, for all fuzzy subsets  $\alpha, \beta, \gamma$  of  $H$ , we have*

- (i)  $(\alpha/\beta)/\gamma = \alpha/(\gamma \circ \beta)$ , (i')  $\gamma \setminus (\beta \setminus \alpha) = (\beta \circ \gamma) \setminus \alpha$ ,  
(ii)  $(\beta \setminus \alpha)/\gamma = \beta \setminus (\alpha/\gamma)$ ,  
(iii) If  $\bigvee_{x \in H} \beta(x) \leq \bigvee_{p \in H} \alpha(p)$ , then  $\beta \subseteq (\alpha/\beta) \setminus \alpha$  and  $\beta \subseteq \alpha/(\beta \setminus \alpha)$ ,

*Proof.* (i)  $((\alpha/\beta)/\gamma)(x) = \bigvee_{p, q, r \in H} (((p/q)/r)(x) \wedge \alpha(p) \wedge \beta(q) \wedge \gamma(r))$   
 $= \bigvee_{p, q, r \in H} ((p/(r \circ q))(x) \wedge \alpha(p) \wedge \beta(q) \wedge \gamma(r))$  (by Theorem 3.2)  
 $= (\alpha/(\gamma \circ \beta))(x)$ , for all  $x \in H$ .

(i')  $(\gamma \setminus (\beta \setminus \alpha))(x) = \bigvee_{p, q, r \in H} (((r \setminus q) \setminus p)(x) \wedge \alpha(p) \wedge \beta(q) \wedge \gamma(r))$   
 $= \bigvee_{p, q, r \in H} (((q \circ r) \setminus p)(x) \wedge \alpha(p) \wedge \beta(q) \wedge \gamma(r)) = ((\beta \circ \gamma) \setminus \alpha)(x)$ , for all  $x \in H$ .

(ii)  $((\beta \setminus \alpha)/\gamma)(x) = \bigvee_{p, q, r \in H} ((q \setminus p)/r)(x) \wedge \beta(q) \wedge \alpha(p) \wedge \gamma(r)$   
 $= \bigvee_{p, q, r \in H} (q \setminus (p/r))(x) \wedge \beta(q) \wedge \alpha(p) \wedge \gamma(r) = \beta \setminus (\alpha/\gamma)(x)$ , for all  $x \in H$ .

(iii)  $(\alpha/\beta) \setminus \alpha(x) = \bigvee_{p, q, r \in H} ((p/q) \setminus r)(x) \wedge \alpha(p) \wedge \beta(q) \wedge \alpha(r)$   
 $\geq \bigvee_{p, q \in H} ((p/q) \setminus p)(x) \wedge \alpha(p) \wedge \beta(q) \wedge \alpha(p) = \bigvee_{p, q \in H} ((p/q) \setminus p)(x) \wedge \alpha(p) \wedge \beta(q)$   
 $\geq \bigvee_{p \in H} ((p/x) \setminus p)(x) \wedge \alpha(p) \wedge \beta(x) = \bigvee_{p \in H} \alpha(p) \wedge \beta(x) = \beta(x)$ , for all  $x \in H$ .

(iii')  $\alpha/(\beta \setminus \alpha)(x) = \bigvee_{p, q, r \in H} (p/(q \setminus r))(x) \wedge \alpha(p) \wedge \beta(q) \wedge \alpha(r)$   
 $\geq \bigvee_{p, q \in H} (p/(q \setminus p))(x) \wedge \alpha(p) \wedge \beta(q) \wedge \alpha(p) = \bigvee_{p, q \in H} (p/(q \setminus p))(x) \wedge \alpha(p) \wedge \beta(q)$   
 $\geq \bigvee_{p \in H} (p/(x \setminus p))(x) \wedge \alpha(p) \wedge \beta(x) = \bigvee_{p \in H} \alpha(p) \wedge \beta(x) = \beta(x)$ , for all  $x \in H$ .  $\square$

**Definition 3.4.** Let  $(H, \circ)$  be a fuzzy hypergroup. If for each  $x \in H$  there exists  $y \in H$  such that

$$(b \setminus a \wedge c/d)(x) \leq ((a \circ d) \wedge (b \circ c))(y),$$

then  $(H, \circ)$  is called a fuzzy transposition hypergroup.

As we show below, this definition of a fuzzy transportation hypergroups is, in fact, a generalization of the definition of transportation hypergroups [Definition

1.6]. Suppose that  $(H, \circ)$  is a transposition hypergroup and  $a, b, c, d, x \in H$ . Now,  $(\chi_{b \setminus a} \wedge \chi_{c/d})(x) \neq 0 \iff (\chi_{b \setminus a} \wedge \chi_{c/d})(x) = 1 \iff x \in b \setminus a \cap c/d \implies b \setminus a \cap c/d \neq \emptyset \implies (a \circ d) \cap (b \circ c) \neq \emptyset \iff$  there exists  $y \in H$  such that  $y \in (a \circ d) \cap (b \circ c) \iff$  there exists  $y \in H$  such that  $(\chi_{(a \circ d)} \wedge \chi_{(b \circ c)})(y) = 1$ . Therefore for each  $x \in H$  there exists  $y \in H$  such that  $(\chi_{b \setminus a} \wedge \chi_{c/d})(x) \leq (\chi_{(a \circ d)} \wedge \chi_{(b \circ c)})(y)$ . In other words, the notion of fuzzy transposition hypergroup generalizes the concept of transposition hypergroup.

We now give an example of a fuzzy transposition hypergroup.

**Example 3.5.** [14] Let  $S$  be a group. Define a fuzzy hyperoperation  $\circ$  on  $S$  by  $a \circ b = \chi_{ab}$ , for all  $a, b \in S$ , where  $\chi_{ab}$  is the characteristic function of the element  $ab$  in  $S$ , then  $(S, \circ)$  is a fuzzy hypergroup.

Let  $a, b, c, d, x \in S$ . Then  $(b \setminus a \wedge c/d)(x) = ((b \circ x)(a) \wedge (x \circ d))(c) = \chi_{bx}(a) \wedge \chi_{xd}(c)$ .

We have two cases:

Case I:  $(b \setminus a \wedge c/d)(x) = 0$ . Then  $(b \setminus a \wedge c/d)(x) \leq ((a \circ d) \wedge (b \circ c))(y)$ , for all  $y \in S$ .

Case II:  $(b \setminus a \wedge c/d)(x) = 1$ . Then  $bx = a$  and  $xd = c$ . This implies that  $ad = bc$ .

Write  $ad = bc = y$ . Then  $((a \circ d) \wedge (b \circ c))(y) = 1$ .

Thus in either case, for every  $x \in S$  there exists  $y \in S$  such that

$(b \setminus a \wedge c/d)(x) \leq ((a \circ d) \wedge (b \circ c))(y)$ . It follows that  $(S, \circ)$  is a fuzzy transposition hypergroup.

**Theorem 3.6.** *If  $(H, \circ)$  is a fuzzy transposition hypergroup, then*

(i)  $(b \setminus a \wedge c/d)(x) \leq \bigvee_{y \in H} ((a \circ d) \wedge (b \circ c))(y)$ , for all  $x \in H$

and

(ii)  $\bigvee_{x \in H} (b \setminus a \wedge c/d)(x) \leq \bigvee_{y \in H} ((a \circ d) \wedge (b \circ c))(y)$ .

*Proof.* Straightforward. □

**Theorem 3.7.** *If  $(H, \circ)$  is a fuzzy transposition hypergroup and  $\alpha, \beta, \gamma, \delta$  are fuzzy subsets of  $H$ , then, for each  $x \in H$ , there exists  $y \in H$  such that*

$$(\beta \setminus \alpha \wedge \gamma / \delta)(x) \leq ((\alpha \circ \delta) \wedge (\beta \circ \gamma))(y).$$

*Proof.*  $(\beta \setminus \alpha \wedge \gamma / \delta)(x) = \bigvee_{a, b, c, d \in H} (b \setminus a \wedge c/d)(x) \wedge \beta(b) \wedge \alpha(a) \wedge \gamma(c) \wedge \delta(d)$

$\leq \bigvee_{a, b, c, d \in H} (a \circ d \wedge b \circ c)(y) \wedge \beta(b) \wedge \alpha(a) \wedge \gamma(c) \wedge \delta(d) \leq ((\alpha \circ \delta) \wedge (\beta \circ \gamma))(y)$ . □

**Theorem 3.8.** *If  $(H, \circ)$  is a fuzzy transposition hypergroup and  $\alpha, \beta, \gamma, \delta$  are fuzzy subsets of  $H$ , then*

(i)  $(\beta \setminus \alpha \wedge \gamma / \delta)(x) \leq \bigvee_{y \in H} ((\alpha \circ \delta) \wedge (\beta \circ \gamma))(y)$ , for all  $x \in H$

and

(ii)  $\bigvee_{x \in H} (\beta \setminus \alpha \wedge \gamma / \delta)(x) \leq \bigvee_{y \in H} ((\alpha \circ \delta) \wedge (\beta \circ \gamma))(y)$ .

*Proof.* Straightforward. □

**Theorem 3.9.** *In a fuzzy transposition hypergroup  $(H, \circ)$ ,*

(i)  $a \circ (b/c) \subseteq (a \circ b)/c$  and (i')  $(c \setminus b) \circ a \subseteq c \setminus (b \circ a)$ ,

(ii)  $a/(b/c) \subseteq (a \circ c)/b$  and (ii')  $(c \setminus b) \setminus a \subseteq b \setminus (c \circ a)$ , for all  $a, b, c \in H$ .

*Proof.* (i)  $(a \circ (b/c))(x) = \bigvee_{p \in H} ((a \circ p)(x) \wedge b/c(p)) = \bigvee_{p \in H} (a \setminus x(p) \wedge b/c(p))$   
 $\leq \bigvee_{q \in H} (x \circ c)(q) \wedge (a \circ b)(q) = \bigvee_{q \in H} q/c(x) \wedge (a \circ b)(q) = (a \circ b)/c(x)$ , for all  $x \in H$ .

(i')  $((c \setminus b) \circ a)(x) = \bigvee_{p \in H} (c \setminus b(p) \wedge (p \circ a)(x)) = \bigvee_{p \in H} (c \setminus b(p) \wedge x/a(p))$   
 $\leq \bigvee_{q \in H} ((b \circ a)(q) \wedge (c \circ x)(q)) = \bigvee_{q \in H} ((b \circ a)(q) \wedge c \setminus q(x))$   
 $= c \setminus (b \circ a)(x)$ , for all  $x \in H$ .

(ii)  $(a/(b/c))(x) = \bigvee_{p \in H} (a/p(x) \wedge b/c(p)) = \bigvee_{p \in H} ((x \circ p)(a) \wedge b/c(p))$   
 $= \bigvee_{p \in H} ((x \setminus a(p) \wedge b/c(p)) \leq \bigvee_{q \in H} ((a \circ c)(q) \wedge (x \circ b)(q))$   
 $= \bigvee_{q \in H} ((a \circ c)(q) \wedge (q/b)(x)) = (a \circ c)/b(x)$ , for all  $x \in H$ .

(ii')  $(c \setminus b) \setminus a(x) = \bigvee_{p \in H} (c \setminus b(p) \wedge p \setminus a(x)) = \bigvee_{p \in H} (c \setminus b(p) \wedge a/x(p))$   
 $\leq \bigvee_{q \in H} ((b \circ x)(q) \wedge (c \circ a)(q)) = \bigvee_{q \in H} (b \setminus q)(x) \wedge (c \circ a)(q)$   
 $= b \setminus (c \circ a)(x)$ , for all  $x \in H$ .  $\square$

**Theorem 3.10.** Let  $(H, \circ)$  be a fuzzy transposition hypergroup. Then, if  $\alpha, \beta$ , and  $\gamma$  are arbitrary fuzzy subsets of  $H$ , we have:

(i)  $\alpha \circ (\beta/\gamma) \subseteq (\alpha \circ \beta)/\gamma$  and (i')  $(\gamma \setminus \beta) \circ \alpha \subseteq \gamma \setminus (\beta \circ \alpha)$ ,  
(ii)  $\alpha/(b/\gamma) \subseteq (\alpha \circ \gamma)/\beta$  and (ii')  $(\gamma \setminus \beta) \setminus \alpha \subseteq \beta \setminus (\gamma \circ \alpha)$ ,

*Proof.* Let  $x \in H$ .

(i)  $(\alpha \circ (\beta/\gamma))(x) = \bigvee_{p,q,r \in H} (p \circ (q/r))(x) \wedge \alpha(p) \wedge \beta(q) \wedge \gamma(r)$   
 $\leq \bigvee_{p,q,r \in H} ((p \circ q)/r)(x) \wedge \alpha(p) \wedge \beta(q) \wedge \gamma(r)$  (by Theorem 3.9)  
 $= (\alpha \circ \beta)/\gamma(x)$ .

(i')  $((\gamma \setminus \beta) \circ \alpha)(x) = \bigvee_{p,q,r \in H} ((r \setminus q) \circ p)(x) \wedge \gamma(r) \wedge \beta(q) \wedge \alpha(p)$   
 $\leq \bigvee_{p,q,r \in H} (r \setminus (q \circ p))(x) \wedge \gamma(r) \wedge \beta(q) \wedge \alpha(p) = \gamma \setminus (\beta \circ \alpha)(x)$ .

(ii)  $(\alpha/(b/\gamma))(x) = \bigvee_{p,q,r \in H} (p/(q/r))(x) \wedge \alpha(p) \wedge \beta(q) \wedge \gamma(r)$   
 $\leq \bigvee_{p,q,r \in H} ((p \circ r)/q)(x) \wedge \alpha(p) \wedge \beta(q) \wedge \gamma(r) = (\alpha \circ \gamma)/\beta(x)$ .

(ii')  $(\gamma \setminus \beta) \setminus \alpha(x) = \bigvee_{p,q,r \in H} ((r \setminus q) \setminus p)(x) \wedge \gamma(r) \wedge \beta(q) \wedge \alpha(p)$   
 $\leq \bigvee_{p,q,r \in H} (q \setminus (r \circ p))(x) \wedge \gamma(r) \wedge \beta(q) \wedge \alpha(p) = \beta \setminus (\gamma \circ \alpha)(x)$ .  $\square$

**Definition 3.11.** [14] Let  $(H, \circ)$  be a fuzzy hypergroup. A fuzzy subset  $\mu$  of  $H$  is said to be a fuzzy subsemihypergroup of  $(H, \circ)$  if

$$\mu \circ \mu \subseteq \mu.$$

**Theorem 3.12.** Let  $(H, \circ)$  be a fuzzy hypergroup. A fuzzy subset  $\mu$  of  $H$  is a fuzzy subsemihypergroup of  $(H, \circ)$  if and only if

$$\mu(a) \wedge \mu(b) \wedge (a \circ b)(x) \leq \mu(x) \text{ for all } a, b, x \in H.$$

*Proof.*  $\mu(a) \wedge \mu(b) \wedge (a \circ b)(x) \leq \bigvee_{p,q \in H} (\mu(p) \wedge \mu(q) \wedge (p \circ q)(x)) = (\mu \circ \mu)(x)$ .

This implies that  $\mu$  is a fuzzy subsemihypergroup of  $(H, \circ)$  if and only if  $\mu(a) \wedge \mu(b) \wedge (a \circ b)(x) \leq \mu(x)$ , for all  $a, b, x \in H$ .  $\square$

**Definition 3.13.** A fuzzy subsemihypergroup  $\mu$  of a fuzzy hypergroup  $(H, \circ)$  is said to be a fuzzy subhypergroup of  $(H, \circ)$  if

$$\mu(a) \wedge \mu(b) \leq (a \circ \mu)(b) \text{ for all } a, b \in H$$

and

$$\mu(a) \wedge \mu(b) \leq (\mu \circ a)(b) \text{ for all } a, b \in H.$$

**Theorem 3.14.** If  $\mu$  is a fuzzy subhypergroup of a fuzzy hypergroup  $(H, \circ)$ , then (i)  $\mu \subseteq \mu \setminus \mu$ , (ii)  $\mu \subseteq \mu / \mu$ , (iii)  $\mu = \mu \circ \mu$ .

*Proof.* (i) We have  $\mu(a) \wedge \mu(b) \leq (a \circ \mu)(b)$ , for all  $a, b \in H$ .

Therefore  $\mu(a) \wedge \mu(b) \leq \mu(b) \wedge (a \circ \mu)(b) \leq \bigvee_{r \in H} \mu(r) \wedge (a \circ \mu)(r)$   
 $= \bigvee_{r \in H} \mu(r) \wedge (r / \mu)(a) = \mu / \mu(a)$  and hence  $\mu(a) \wedge \mu(b) \leq \mu / \mu(a)$ , for all  $a, b \in H$ .  
 In particular,  $\mu(a) \wedge \mu(a) \leq \mu / \mu(a)$ , for all  $a \in H$ ; i.e.  $\mu(a) \leq \mu / \mu(a)$ , for all  $a \in H$ .  
 Therefore  $\mu \subseteq \mu / \mu$ .

(ii) the prrof is similar to that of (i).

(iii) We have  $\mu \circ \mu \subseteq \mu$  and  $\mu(a) \wedge \mu(b) \leq (a \circ \mu)(b)$ , for all  $a, b \in H$ . Therefore  
 $\mu(a) \wedge \mu(b) \leq \mu(a) \wedge (a \circ \mu)(b) \leq \bigvee_{r \in H} \mu(r) \wedge (r \circ \mu)(b) = (\mu \circ \mu)(b)$ . Therefore  
 $\mu(a) \wedge \mu(b) \leq (\mu \circ \mu)(b)$ , for all  $a, b \in H$ . In particular  $\mu(b) \wedge \mu(b) \leq (\mu \circ \mu)(b)$ , for  
 all  $b \in H$  i.e.  $\mu(b) \leq (\mu \circ \mu)(b)$ , for all  $b \in H$ . Therefore  $\mu \subseteq \mu \circ \mu$ .

Hence  $\mu = \mu \circ \mu$ .  $\square$

#### 4. Closed and Reflexive Fuzzy Subsemihypergroups

In this section we introduce the notions of fuzzy closed sets, fuzzy normal subsemihypergroups and fuzzy reflexive subsemihypergroups and study some of their properties. We also investigate a fuzzy equivalence relation on a fuzzy transposition hypergroup  $(H, \circ)$  induced by a fuzzy reflexive closed subsemihypergroup.

**Definition 4.1.** Let  $(H, \circ)$  be a fuzzy hypergroup. A fuzzy subset  $\mu$  of  $H$  is said to be closed if

$$\mu \setminus \mu \subseteq \mu \text{ and } \mu / \mu \subseteq \mu.$$

**Theorem 4.2.** Let  $(H, \circ)$  be a fuzzy hypergroup. Let  $\mu$  be a fuzzy subset of  $H$ . Then the following conditions are equivalent:

(i)  $\mu$  is closed.

(ii) For all  $a, b, x, y \in H$ ,  $\mu(a) \wedge \mu(b) \wedge (a \circ x)(b) \leq \mu(x)$  and  $\mu(a) \wedge \mu(b) \wedge (y \circ a)(b) \leq \mu(y)$ .

(iii) For all  $a, b, x, y \in H$ ,  $\mu(b) \wedge (\mu \circ x)(b) \leq \mu(x)$  and  $\mu(b) \wedge (y \circ \mu)(b) \leq \mu(y)$ , for all  $b, x, y \in H$ .

*Proof.* (i)  $\implies$  (ii).

$\mu(a) \wedge \mu(b) \wedge (a \circ x)(b) \leq \bigvee_{p, q \in H} \mu(p) \wedge \mu(q) \wedge (p \circ x)(q) = \mu \setminus \mu(x) \leq \mu(x)$  and  
 $\mu(a) \wedge \mu(b) \wedge (y \circ a)(b) \leq \bigvee_{p, q \in H} \mu(p) \wedge \mu(q) \wedge (y \circ p)(q) = \mu / \mu(y) \leq \mu(y)$ . This  
 implies that  $\mu(a) \wedge \mu(b) \wedge (a \circ x)(b) \leq \mu(x)$  and  $\mu(a) \wedge \mu(b) \wedge (y \circ a)(b) \leq \mu(y)$ , for  
 all  $a, b, x, y \in H$ .

(ii)  $\implies$  (iii).

$\mu(b) \wedge (\mu \circ x)(b) = \bigvee_{a \in H} \mu(a) \wedge \mu(b) \wedge (a \circ x)(b) \leq \bigvee_{a, b \in H} \mu(a) \wedge \mu(b) \wedge (a \circ x)(b) \leq \mu(x)$   
and  $\mu(b) \wedge (y \circ \mu)(b) = \bigvee_{a \in H} \mu(a) \wedge \mu(b) \wedge (y \circ a)(b) \leq \bigvee_{a, b \in H} \mu(a) \wedge \mu(b) \wedge (y \circ a)(b) \leq \mu(y)$ . This implies that  $\mu(b) \wedge (\mu \circ x)(b) \leq \mu(x)$  and  $\mu(b) \wedge (y \circ \mu)(b) \leq \mu(y)$ , for all  $b, x, y \in H$ .

(iii)  $\implies$  (i).

$\mu \setminus \mu(x) = \bigvee_{b \in H} \mu(b) \wedge (\mu \circ x)(b) \leq \mu(x)$  and  $\mu / \mu(y) = \bigvee_{b \in H} \mu(b) \wedge (y \circ \mu)(b) \leq \mu(y)$ . This implies that  $\mu \setminus \mu \subseteq \mu$  and  $\mu / \mu \subseteq \mu$ . Therefore  $\mu$  is fuzzy closed.  $\square$

**Theorem 4.3.** *Let  $(H, \circ)$  be a fuzzy hypergroup. If a fuzzy subset  $\mu$  of  $H$  is closed then*

(i)  $\mu(a) \wedge \mu(b) \leq (a \circ \mu)(b)$ , for all  $a, b \in H$ ,

(ii)  $\mu(a) \wedge \mu(b) \leq (\mu \circ a)(b)$ , for all  $a, b \in H$ ,

(iii)  $\mu \subseteq \mu \circ \mu$

(iv)  $\mu = \mu \setminus \mu = \mu / \mu$

*Proof.* (i) We have  $\mu(a) \wedge \mu(b) \wedge (a \circ x)(b) \leq \mu(x)$ , for all  $a, b, x, y \in H$ . Therefore  $\mu(a) \wedge \mu(b) \wedge (a \circ x)(b) \leq \mu(x) \wedge (a \circ x)(b) \leq \bigvee_{t \in H} \mu(t) \wedge (a \circ t)(b) = (a \circ \mu)(b)$ . It follows that  $\bigvee_{x \in H} (\mu(a) \wedge \mu(b) \wedge (a \circ x)(b)) \leq (a \circ \mu)(b)$  i.e.  $\mu(a) \wedge \mu(b) \wedge (a \circ H)(b) \leq (a \circ \mu)(b)$  i.e.  $\mu(a) \wedge \mu(b) \leq (a \circ \mu)(b)$ .

(ii) The proof is similar to that of (i).

(iii) We have  $\mu(a) \wedge \mu(b) \leq (\mu \circ a)(b)$ , for all  $a, b \in H$ . This implies that  $\mu(a) \wedge \mu(b) \leq (\mu \circ a)(b) \wedge \mu(a) \leq (\mu \circ \mu)(b)$ . Therefore  $\mu(a) \wedge \mu(b) \leq (\mu \circ \mu)(b)$ , for all  $a, b \in H$ . In particular  $\mu(b) \leq (\mu \circ \mu)(b)$ , for all  $b \in H$  i.e.  $\mu \subseteq \mu \circ \mu$ .

(iv) By (i) we have  $\mu(a) \wedge \mu(b) \leq (a \circ \mu)(b)$ , for all  $a, b \in H$ .

Therefore  $\mu(a) \wedge \mu(b) \leq (a \circ \mu)(b) \wedge \mu(b) = b / \mu(a) \wedge \mu(b) \leq \mu / \mu(a)$ , for all  $a, b \in H$ . In particular  $\mu(a) \leq \mu / \mu(a)$ , for all  $a \in H$ . It follows that  $\mu \subseteq \mu / \mu$  and hence  $\mu = \mu / \mu$ . Similarly,  $\mu = \mu \setminus \mu$ .  $\square$

**Corollary 4.4.** *A fuzzy subset  $\mu$  of a fuzzy hypergroup  $(H, \circ)$  is closed if and only if*

$$\mu / \mu = \mu \setminus \mu = \mu.$$

We now give an example of a fuzzy closed subset which is not a fuzzy subsemi-hypergroup.

**Example 4.5.** In example 2.7 we saw that if  $S$  is a group, then  $(S, \circ)$  is a fuzzy hypergroup. We define a fuzzy hyperoperation  $\circ$  on  $S$  by  $a \circ b = \chi_{ab}$  for all  $a, b \in S$ , where  $\chi_{ab}$  is the characteristic function of the element  $ab$  in  $S$ .

Since the set  $S = \{1, -1, i, -i\}$ , where  $i$  is the square root of  $-1$ , is a group under usual multiplication, hence  $S$  is a fuzzy hypergroup under the fuzzy hyperoperation  $\circ$ . We now define a fuzzy subset  $\mu$  of  $S$  by  $\mu(1) = 1$ ,  $\mu(-1) = \frac{1}{2}$ ,  $\mu(i) = \frac{1}{3}$ ,  $\mu(-i) = \frac{1}{4}$ . It can be easily verified that  $\mu / \mu(1) = \mu \setminus \mu(1) = 1 = \mu(1)$ ,  $\mu / \mu(-1) = \mu \setminus \mu(-1) = \frac{1}{2} = \mu(-1)$ ,  $\mu / \mu(i) = \mu \setminus \mu(i) = \frac{1}{3} = \mu(i)$ ,  $\mu / \mu(-i) = \mu \setminus \mu(-i) = \frac{1}{4} = \mu(-i)$ . It follows that  $\mu$  is a fuzzy closed subset of the fuzzy hypergroup  $(S, \circ)$ .

On the other hand,  $(\mu \circ \mu)(-i) = \bigvee_{r \in S} (\mu(r) \wedge (r \circ \mu)(-i)) = (\mu(1) \wedge (1 \circ \mu)(-i)) \vee$



$(\mu(-1) \wedge (-1 \circ \mu)(-i)) \vee (\mu(i) \wedge (i \circ \mu)(-i)) \vee (\mu(-i) \wedge (-i \circ \mu)(-i)) = (1 \wedge \frac{1}{4}) \vee (\frac{1}{2} \wedge \frac{1}{3}) \vee (\frac{1}{3} \wedge \frac{1}{2}) \vee (\frac{1}{4} \wedge 1) = \frac{1}{3} > \frac{1}{4} = \mu(-i)$ . It follows that  $\mu$  is not a fuzzy subsemihypergroup and hence not a fuzzy subhypergroup.

**Theorem 4.6.** *If a fuzzy subsemihypergroup  $\mu$  of a fuzzy hypergroup  $(H, \circ)$  is closed then it is a fuzzy subhypergroup.*

*Proof.* The proof follows from Theorem 4.3.  $\square$

**Definition 4.7.** A fuzzy subsemihypergroup  $\mu$  of a fuzzy hypergroup  $(H, \circ)$  is said to be *normal* if

$$a \circ \mu = \mu \circ a \quad \text{for all } a \in H.$$

**Theorem 4.8.** *A fuzzy subsemihypergroup  $\mu$  of a fuzzy hypergroup  $(H, \circ)$  is normal if and only if*

$$\mu \setminus a = a / \mu \quad \text{for all } a \in H.$$

*Proof.* Let  $\mu$  be normal.

Then  $\mu \setminus a(x) = (\mu \circ x)(a) = (x \circ \mu)(a) = a / \mu(x)$  for all  $x \in H$ .

Conversely, assume that  $\mu \setminus a = a / \mu$ , for all  $a \in H$ .

Then  $(\mu \circ a)(x) = \mu \setminus x(a) = x / \mu(a) = (a \circ \mu)(x)$  for all  $x \in H$ .  $\square$

**Theorem 4.9.** *A fuzzy subsemihypergroup  $\mu$  of a fuzzy hypergroup  $(H, \circ)$  is normal if and only if*

$$\mu \circ \nu = \nu \circ \mu \quad \text{for every fuzzy subset } \nu \text{ of } H.$$

*Proof.* Let  $\mu$  be normal. Then  $(\mu \circ \nu)(x) = \bigvee_{p \in H} ((\mu \circ p)(x) \wedge \nu(p)) = \bigvee_{p \in H} (\nu(p) \wedge (p \circ \mu)(x)) = (\nu \circ \mu)(x)$ , for all  $x \in H$ .

Conversely, assume that  $\mu \circ \nu = \nu \circ \mu$ , for every fuzzy subset  $\nu$  of  $H$ . Since  $\chi_a$  is a fuzzy subset of  $H$ , hence  $\mu \circ a = \mu \circ \chi_a = \chi_a \circ \mu = a \circ \mu$ , for all  $a \in H$ .

It follows that  $\mu$  is fuzzy normal.  $\square$

**Theorem 4.10.** *A fuzzy subsemihypergroup  $\mu$  of a fuzzy hypergroup  $(H, \circ)$  is normal if and only if*

$$\mu \setminus \nu = \nu / \mu \quad \text{for every fuzzy subset } \nu \text{ of } H.$$

*Proof.* Let  $\mu$  be normal. Then  $(\mu \setminus \nu)(x) = \bigvee_{p \in H} (\mu \setminus p(x) \wedge \nu(p)) = \bigvee_{p \in H} (\nu(p) \wedge (p / \mu)(x)) = \nu / \mu(x)$  for all  $x \in H$ .

Conversely, assume that  $\mu \setminus \nu = \nu / \mu$ , for every fuzzy subset  $\nu$  of  $H$ . Since  $\chi_a$  is a fuzzy subset of  $H$ , then  $\mu \setminus a(x) = (\mu \circ x)(a) = \bigvee_{p \in H} ((\mu \circ x)(p) \wedge \chi_a(p)) = \mu \setminus \chi_a(x) = \chi_a / \mu(x) = \bigvee_{p \in H} ((x \circ \mu)(p) \wedge \chi_a(p)) = (x \circ \mu)(a) = a / \mu(x)$  for all  $x \in H$ .

It follows that  $\mu$  is fuzzy normal.  $\square$

**Definition 4.11.** A fuzzy subsemihypergroup  $\mu$  of a fuzzy hypergroup  $(H, \circ)$  is said to be *reflexive* if

$$a \setminus \mu = \mu / a \quad \text{for all } a \in H.$$

**Theorem 4.12.** *A fuzzy subsemihypergroup  $\mu$  of a fuzzy hypergroup  $(H, \circ)$  is reflexive if and only if*

$$\nu \setminus \mu = \mu / \nu \text{ for every fuzzy subset } \nu \text{ of } H.$$

*Proof.* Let  $\mu$  be fuzzy reflexive. Then  $\nu \setminus \mu(x) = \bigvee_{p \in H} (p \setminus \mu(x) \wedge \nu(p)) = \bigvee_{p \in H} (\mu/p(x) \wedge \nu(p)) = \mu/\nu(x)$ , for all  $x \in H$ .

Conversely assume that  $\nu \setminus \mu = \mu/\nu$ , for every fuzzy subset  $\nu$  of  $H$ . Since  $\chi_a$  is a fuzzy subset of  $H$ , hence  $a \setminus \mu(x) = \bigvee_{p \in H} (\mu(p) \wedge (a \circ x)(p)) = \bigvee_{p \in H} (\mu(p) \wedge (\chi_a \circ x)(p)) = \chi_a \setminus \mu(x) = \mu/\chi_a(x) = \bigvee_{p \in H} (\mu/p(x) \wedge \chi_a(p)) = \mu/a(x)$ , for all  $a, x \in H$ .

It follows that  $\mu$  is fuzzy reflexive.  $\square$

**Theorem 4.13.** *A fuzzy normal closed subsemihypergroup  $\mu$  of a fuzzy transposition hypergroup  $(H, \circ)$  is fuzzy reflexive.*

*Proof.*  $\mu/a(x) = \bigvee_{p \in H} ((x \circ a)(p) \wedge \mu(p)) \leq \bigvee_{p \in H} \mu(p)$ , for all  $x \in H$ .

By Theorems 3.3, 3.10, 4.10 we have

$$\mu/a \subseteq (\mu/(\mu/a)) \setminus \mu \subseteq (\mu \circ a/\mu) \setminus \mu = (\mu \setminus \mu \circ a) \setminus \mu \subseteq \mu \circ a \setminus \mu \circ \mu = \mu \circ a \setminus \mu = a \setminus (\mu \setminus \mu) = a \setminus \mu. \text{ Similarly, } a \setminus \mu \subseteq \mu/a.$$

It follows that  $\mu$  is fuzzy reflexive.  $\square$

**Definition 4.14.** [12] Let  $H$  be a non-empty set. A fuzzy subset  $\rho$  of  $H \times H$  is said to be a fuzzy equivalence relation on  $H$  if

- (i)  $\rho(a, a) = 1$ , for all  $a \in H$  (fuzzy reflexive),
- (ii)  $\rho(a, b) = \rho(b, a)$ , for all  $a, b \in H$  (fuzzy symmetric).

and

- (iii)  $\rho(a, b) \wedge \rho(b, c) \leq \rho(a, c)$ , for all  $a, b, c \in H$  (fuzzy transitive).

The condition (iii) is equivalent to  $\rho \circ \rho \subseteq \rho$ , where  $(\rho \circ \rho)(a, c) = \bigvee_{b \in H} \rho(a, b) \wedge \rho(b, c)$ .

It is clear that if  $\rho$  is a fuzzy equivalence relation on  $H$ , then  $\rho \circ \rho = \rho$ .

Moreover, the fuzzy equivalence class  $\rho_a$ , corresponding to an element  $a \in H$ , is defined by

$$\rho_a(x) = \rho(a, x) \text{ for all } x \in H.$$

We may generalize the above definition as follows.

**Definition 4.15.** Let  $\rho$  be a fuzzy relation on a non-empty set  $H$  and  $\mu$  be a fuzzy subset of  $H$ , then the fuzzy subset  $\rho_\mu$  of  $H$  is defined by

$$\rho_\mu(x) = \bigvee_{r \in H} (\mu(r) \wedge \rho_r(x)) \text{ for all } x \in H.$$

**Example 4.16.** Let  $\chi_{ab}$  denote the characteristic function of the element  $ab$  in  $S$ . Then we know that  $(S, \circ)$ , where  $S = \{1, -1, i, -i\}$  and the fuzzy hyperoperation  $\circ$  is defined by  $a \circ b = \chi_{ab}$ , for all  $a, b \in S$ , is a fuzzy hypergroup.

We now define a fuzzy subset  $\mu$  of  $S$  by  $\mu(1) = 1$ ,  $\mu(-1) = \frac{1}{2}$ ,  $\mu(i) = \frac{1}{4}$ ,  $\mu(-i) = \frac{1}{4}$ . It can be easily verified that  $\mu/\mu = \mu \setminus \mu = \mu$ . Hence  $\mu$  is a fuzzy closed subset of the fuzzy hypergroup  $(S, \circ)$ .

Moreover, we can show that  $\mu \circ \mu = \mu$  and hence  $\mu$  is a fuzzy subsemihypergroup. Also,  $\mu/a(x) = \bigvee_{r \in S} \mu(r) \wedge (x \circ a)(r) = \bigvee_{r \in S} \mu(r) \wedge \chi_{xa}(r) = \bigvee_{r \in S} \mu(r) \wedge \chi_{ax}(r) = \bigvee_{r \in S} \mu(r) \wedge (a \circ x)(r) = a \setminus \mu(x)$  for all  $x \in S$ .

Therefore  $\mu/a = a \setminus \mu$ , for all  $a \in S$  and hence  $\mu$  is fuzzy reflexive.

Now,  $\bigvee_{p \in S} \mu(p) = 1$ .

Therefore  $\mu$  is a fuzzy reflexive closed subsemihypergroup of the fuzzy transposition hypergroup  $(S, \circ)$  such that  $\bigvee_{p \in S} \mu(p) = 1$ .

**Theorem 4.17.** *Let  $\mu$  be a fuzzy reflexive closed subsemihypergroup of a fuzzy transposition hypergroup  $(H, \circ)$  such that  $\bigvee_{p \in H} \mu(p) = 1$ . Then the fuzzy relation  $\rho$  on  $H$  defined by  $\rho(a, b) = \bigvee_{x \in H} (a \circ \mu)(x) \wedge (\mu \circ b)(x)$ , for all  $a, b \in H$  is a fuzzy equivalence relation and for any element  $a \in H$  the fuzzy equivalence class  $\rho_a$  is given by*

$$\rho_a = (\mu \circ a)/\mu = \mu/(\mu/a) = \mu \setminus (a \circ \mu) = (a \setminus \mu) \setminus \mu.$$

*Proof.* By Theorem 3.8 we have  $\rho(a, a) = \bigvee_{x \in H} (a \circ \mu)(x) \wedge (\mu \circ a)(x) \geq \bigvee_{p \in H} a \setminus \mu(p) \wedge \mu/a(p) = \bigvee_{p \in H} a \setminus \mu(p) = \bigvee_{p, q \in H} \mu(q) \wedge (a \circ p)(q) = \bigvee_{q \in H} \mu(q) = 1$ .

It follows that  $\rho(a, a) = 1$ , for all  $a \in H$ . Hence  $\rho$  is fuzzy reflexive.

By Theorems 3.8, 3.2, 4.12 we have  $\rho(b, a) = \bigvee_{x \in H} (b \circ \mu)(x) \wedge (\mu \circ a)(x)$

$$\begin{aligned} &\geq \bigvee_{p \in H} b \setminus \mu(p) \wedge \mu/a(p) \geq \bigvee_{p \in H} b \setminus (\mu \setminus \mu)(p) \wedge (\mu/\mu)/a(p) \\ &= \bigvee_{p \in H} (\mu \circ b) \setminus \mu(p) \wedge \mu/(a \circ \mu)(p) = \bigvee_{p \in H} \mu/(\mu \circ b)(p) \wedge \mu/(a \circ \mu)(p) \\ &= \bigvee_{p, q, r \in H} \mu(q) \wedge (p \circ \mu \circ b)(q) \wedge \mu(r) \wedge (p \circ a \circ \mu)(r) \\ &\geq \bigvee_{p, q \in H} \mu(q) \wedge (p \circ \mu \circ b)(q) \wedge (p \circ a \circ \mu)(q) \\ &= \bigvee_{p, q, r, s \in H} \mu(q) \wedge (p \circ r)(q) \wedge (\mu \circ b)(r) \wedge (p \circ s)(q) \wedge (a \circ \mu)(s) \\ &\geq \bigvee_{p, q, r \in H} \mu(q) \wedge (p \circ r)(q) \wedge (\mu \circ b)(r) \wedge (p \circ r)(q) \wedge (a \circ \mu)(r) \\ &= \bigvee_{q, r \in H} \mu(q) \wedge (a \circ \mu)(r) \wedge (\mu \circ b)(r) = \bigvee_{q \in H} \mu(q) \wedge \bigvee_{r \in H} (a \circ \mu)(r) \wedge (\mu \circ b)(r) \\ &= \bigvee_{r \in H} (a \circ \mu)(r) \wedge (\mu \circ b)(r) = \rho(a, b). \end{aligned}$$

Similarly,  $\rho(a, b) \geq \rho(b, a)$ . Therefore  $\rho(a, b) = \rho(b, a)$ .

Hence  $\rho$  is fuzzy symmetric.

Now, for all  $a, b, c \in H$ ,  $\rho(a, b) \wedge \rho(b, c) = \bigvee_{x \in H} ((a \circ \mu)(x) \wedge (\mu \circ b)(x)) \wedge \bigvee_{y \in H} ((b \circ \mu)(y) \wedge (\mu \circ c)(y))$

$$\begin{aligned} &= \bigvee_{x \in H} ((a \circ \mu)(x) \wedge (\mu \setminus x)(b) \wedge y/\mu(b) \wedge (\mu \circ c)(y)) = \mu \setminus (a \circ \mu)(b) \wedge (\mu \circ c)/\mu(b) \\ &\leq \bigvee_{p \in H} ((\mu \circ \mu \circ c)(p) \wedge (a \circ \mu \circ \mu)(p)) = \bigvee_{p \in H} ((a \circ \mu)(p) \wedge (\mu \circ c)(p)) = \rho(a, c). \end{aligned}$$

Hence  $\rho$  is fuzzy transitive.

It follows that  $\rho$  is a fuzzy equivalence relation and hence.

$$\begin{aligned} \rho_a(x) &= \rho(a, x) = \rho(x, a) = \bigvee_{p \in H} ((x \circ \mu)(p) \wedge (\mu \circ a)(p)) \\ &= \bigvee_{p \in H} (p/\mu(x) \wedge (\mu \circ a)(p)) = (\mu \circ a)/\mu(x). \\ \rho_a(x) &= \rho(a, x) = \bigvee_{p \in H} ((a \circ \mu)(p) \wedge (\mu \circ x)(p)) = \bigvee_{p \in H} ((a \circ \mu)(p) \wedge \mu \setminus p(x)) \\ &= \mu \setminus (a \circ \mu)(x). \end{aligned}$$

By Theorems 3.10, 4.12, 3.2 we have

$$\begin{aligned} \mu/(\mu/a) &\subseteq (\mu \circ a)/\mu \subseteq (\mu/((\mu \circ a)/\mu)) \setminus \mu \subseteq ((\mu \circ \mu)/(\mu \circ a)) \setminus \mu = (\mu/(\mu \circ a)) \setminus \mu \\ &= \mu/(\mu/(\mu \circ a)) = \mu/((\mu/a)/\mu) \subseteq (\mu \circ \mu)/(\mu/a) = \mu/(\mu/a). \end{aligned}$$

It follows that  $(\mu \circ a)/\mu = \mu/(\mu/a)$ .

Similarly,  $\mu \setminus (a \circ \mu) = (a \setminus \mu) \setminus \mu$ . □

**Theorem 4.18.** *If  $\mu$  is a fuzzy reflexive closed subsemihypergroup of a fuzzy transposition hypergroup  $(H, \circ)$ , then*

$$\bigvee_{p \in H} (a \circ b)(p) \wedge \mu(p) = \bigvee_{p \in H} (b \circ a)(p) \wedge \mu(p) = \mu/a(b) = \mu/b(a).$$

*Proof.*  $\bigvee_{p \in H} (a \circ b)(p) \wedge \mu(p) = \bigvee_{p \in H} p/b(a) \wedge \mu(p) = \mu/b(a) = b \setminus \mu(a)$   
 $= \bigvee_{p \in H} (b \circ a)(p) \wedge \mu(p) = \bigvee_{p \in H} p/a(p) \wedge \mu(p) = \mu/a(b).$   $\square$

**Theorem 4.19.** *If  $\mu$  is a fuzzy reflexive closed subsemihypergroup of a fuzzy transposition hypergroup  $(H, \circ)$  such that  $\bigvee_{p \in H} \mu(p) = 1$  and  $\rho$  is the corresponding fuzzy equivalence relation, then*

$$(\rho_a \circ \rho_b)(x) \leq \bigvee_{r \in H} (a \circ b)(r) \wedge \rho_r(p) = \rho_{a \circ b}(x) \quad \text{for all } x \in H.$$

*Proof.* By Theorem 4.17 we have

$$\begin{aligned} \rho_a \circ \rho_b &= (\mu \setminus (a \circ \mu) \circ (\mu / (\mu / b))) \subseteq (\mu \setminus (a \circ \mu) \circ \mu) / (\mu / b) \subseteq (\mu \setminus (a \circ \mu \circ \mu)) / (\mu / b) \\ &= (\mu \setminus (a \circ \mu)) / (\mu / b) = ((\mu \circ a) / \mu) / (\mu / b) = (\mu \circ a) / ((\mu / b) / \mu) = (\mu \circ a) / ((b \setminus \mu) / \mu) \\ &\subseteq (\mu \circ a) / ((b \setminus (\mu \circ \mu))) = (\mu \circ a) / (b \setminus \mu) = (\mu \circ a) / (\mu / b) \subseteq (\mu \circ a \circ b) / \mu. \end{aligned}$$

It follows that  $(\rho_a \circ \rho_b)(x) \leq \bigvee_{r \in H} (a \circ b)(r) \wedge \rho_r(x) = \rho_{a \circ b}(x).$   $\square$

## 5. Fuzzy Regular Relation and Fuzzy Quotient Hypergroup

In this section we introduce the notion of a fuzzy regular relation on a fuzzy hypergroupoid  $(H, \circ)$  and study the fuzzy quotient hypergroups of a fuzzy hypergroup and a fuzzy transposition hypergroup. We also investigate the scalar identity of a fuzzy regular relation.

**Definition 5.1.** A fuzzy equivalence relation  $\rho$  on a fuzzy hypergroupoid  $(H, \circ)$  is said to be right regular if

$$\bigvee_{a \in H} (\rho(a, b) \wedge (a \circ c)(t)) \leq \bigvee_{r \in H} ((b \circ c)(r) \wedge \rho(t, r)), \quad \text{for all } b, c, t \in H.$$

and

$$\bigvee_{b \in H} (\rho(a, b) \wedge (b \circ c)(t)) \leq \bigvee_{r \in H} (a \circ c)(r) \wedge \rho(r, t), \quad \text{for all } a, c, t \in H.$$

We can similarly define the left regularity of a fuzzy equivalence relation  $\rho$  on a fuzzy hypergroupoid  $(H, \circ).$

**Definition 5.2.** A fuzzy equivalence relation  $\rho$  on a fuzzy hypergroupoid  $(H, \circ)$  is said to be regular if it is both right and left regular.

**Theorem 5.3.** *A fuzzy equivalence relation  $\rho$  on a fuzzy hypergroupoid  $(H, \circ)$  is regular if and only if*

$$\bigvee_{a, c \in H} (\rho(a, b) \wedge \rho(c, d) \wedge (a \circ c)(t)) \leq \bigvee_{r \in H} ((b \circ d)(r) \wedge \rho(t, r)), \quad \text{for all } b, d, t \in H$$

and

$$\bigvee_{b, d \in H} (\rho(a, b) \wedge \rho(c, d) \wedge (b \circ d)(t)) \leq \bigvee_{r \in H} (a \circ c)(r) \wedge \rho(r, t), \quad \text{for all } a, c, t \in H.$$

*Proof.* Let  $\rho$  be regular. Then it is both right and left regular.

Now  $\bigvee_{a, c \in H} (\rho(a, b) \wedge \rho(c, d) \wedge (a \circ c)(t)) \leq \bigvee_{u, c \in H} ((b \circ c)(u) \wedge \rho(t, u) \wedge \rho(c, d))$   
 $\leq \bigvee_{u, r \in H} ((b \circ d)(r) \wedge \rho(t, u) \wedge \rho(u, r)) = \bigvee_{r \in H} ((b \circ d)(r) \wedge \rho(t, r)), \quad \text{for all } b, d, t \in H.$   
 Similarly,  $\bigvee_{b, d \in H} (\rho(a, b) \wedge \rho(c, d) \wedge (b \circ d)(t))$

$\leq \bigvee_{r \in H} (a \circ c)(r) \wedge \rho(r, t)$ , for all  $a, c, t \in H$ .  
 Conversely, assume that  $\bigvee_{a, c \in H} (\rho(a, b) \wedge \rho(c, d) \wedge (a \circ c)(t)) \leq \bigvee_{r \in H} ((b \circ d)(r) \wedge \rho(t, r))$ ,  
 for all  $b, d, t \in H$  and  
 $\bigvee_{b, d \in H} (\rho(a, b) \wedge \rho(c, d) \wedge (b \circ d)(t)) \leq \bigvee_{r \in H} (a \circ c)(r) \wedge \rho(r, t)$ , for all  $a, c, t \in H$ .  
 Now  $\bigvee_{a \in H} (\rho(a, b) \wedge (a \circ c)(t)) \leq \bigvee_{a, p \in H} (\rho(a, b) \wedge \rho(p, c) \wedge (a \circ p)(t))$   
 $\leq \bigvee_{r \in H} ((b \circ c)(r) \wedge \rho(t, r))$ , for all  $b, c, t \in H$   
 and  
 $\bigvee_{b \in H} (\rho(a, b) \wedge (b \circ c)(t)) \leq \bigvee_{b, d \in H} (\rho(a, b) \wedge \rho(c, d) \wedge (b \circ d)(t)) \leq \bigvee_{r \in H} (a \circ c)(r) \wedge \rho(r, t)$ ,  
 for all  $a, c, t \in H$ .

It follows that  $\rho$  is right regular. Similarly,  $\rho$  is left regular and hence  $\rho$  is regular.  $\square$

**Theorem 5.4.** *Let  $\rho$  be a fuzzy regular relation on a fuzzy hypergroup  $(H, \circ)$ . Let  $\rho_a$  be the fuzzy equivalence class corresponding to an element  $a \in H$ . We consider the set  $H_\rho = \{\rho_a : a \in H\}$  and define a fuzzy hyperoperation  $\star$  on  $H_\rho$  by*

$$(\rho_a \star \rho_b)(\rho_x) = \bigvee_{r \in H} (a \circ b)(r) \wedge \rho_x(r), \quad \text{for all } a, b, x \in H.$$

Then  $(H_\rho, \star)$  is a fuzzy hypergroup.

*Proof.* First we show that the fuzzy hyperoperation  $\star$  on  $H_\rho$  given by

$$(\rho_a \star \rho_b)(\rho_x) = \bigvee_{r \in H} (a \circ b)(r) \wedge \rho_x(r), \quad \text{for all } a, b, x \in H.$$

is well-defined.

Let  $\rho_a = \rho_{a'}$ ,  $\rho_b = \rho_{b'}$ ,  $\rho_x = \rho_{x'}$ , then  $\rho(a, a') = \rho(b, b') = \rho(x, x') = 1$ .  
 $(\rho_a \star \rho_b)(\rho_x) = \bigvee_{r \in H} (a \circ b)(r) \wedge \rho_x(r) = \bigvee_{r \in H} (a \circ b)(r) \wedge \rho(a, a') \wedge \rho(b, b') \wedge \rho(x, x')$   
 $\leq \bigvee_{r, p, q \in H} (p \circ q)(r) \wedge \rho(p, a') \wedge \rho(q, b') \wedge \rho(x, r)$   
 $\leq \bigvee_{r, r' \in H} (a' \circ b')(r') \wedge \rho(r, r') \wedge \rho(x, r) \wedge \rho(x, x') \leq \bigvee_{r' \in H} (a' \circ b')(r') \wedge \rho(x', r')$   
 $= (\rho_{a'} \star \rho_{b'}) (\rho_{x'})$ . It follows that  $(\rho_a \star \rho_b)(\rho_x) \leq (\rho_{a'} \star \rho_{b'}) (\rho_{x'})$ .

Similarly,  $(\rho_{a'} \star \rho_{b'}) (\rho_{x'}) \leq (\rho_a \star \rho_b)(\rho_x)$ .

Therefore  $(\rho_a \star \rho_b)(\rho_x) = (\rho_{a'} \star \rho_{b'}) (\rho_{x'})$  and hence the fuzzy hyperoperation  $\star$  on  $H_\rho$  is well-defined.

We also note that  $(a \circ b)(x) \leq (\rho_a \star \rho_b)(\rho_x)$ , for all  $a, b, x \in H$ .

$$\begin{aligned}
 ((\rho_a \star \rho_b) \star \rho_c)(\rho_x) &= \bigvee_{\rho_r \in H_\rho} (\rho_a \star \rho_b)(\rho_r) \wedge (\rho_r \star \rho_c)(\rho_x) \\
 &= \bigvee_{r, s, t \in H} ((a \circ b)(s) \wedge \rho(r, s) \wedge (r \circ c)(t) \wedge \rho(x, t)) \\
 &\leq \bigvee_{s, t, t' \in H} ((a \circ b)(s) \wedge (s \circ c)(t') \wedge \rho(t, t') \wedge \rho(x, t)) \\
 &\leq \bigvee_{s, t' \in H} ((a \circ b)(s) \wedge (s \circ c)(t') \wedge \rho(x, t')) = \bigvee_{t' \in H} ((a \circ b) \circ c)(t') \wedge \rho(x, t') \\
 &= \bigvee_{t' \in H} ((a \circ (b \circ c))(t') \wedge \rho(x, t')) = \bigvee_{r, t' \in H} ((a \circ r)(t') \wedge (b \circ c)(r) \wedge \rho(x, t')) \\
 &= \bigvee_{r \in H} ((\rho_a \star \rho_r)(\rho_x) \wedge (b \circ c)(r)) \leq \bigvee_{r \in H} ((\rho_a \star \rho_r)(\rho_x) \wedge (\rho_b \star \rho_c)(\rho_r)) \\
 &= (\rho_a \star (\rho_b \star \rho_c))(\rho_x).
 \end{aligned}$$

Similarly,  $(\rho_a \star (\rho_b \star \rho_c))(\rho_x) \leq ((\rho_a \star \rho_b) \star \rho_c)(\rho_x)$ .

Therefore  $((\rho_a \star \rho_b) \star \rho_c)(\rho_x) = (\rho_a \star (\rho_b \star \rho_c))(\rho_x)$ , for all  $\rho_a, \rho_b, \rho_c, \rho_x \in H_\rho$ . Hence  $(H_\rho, \star)$  is a fuzzy semihypergroup.

Again,  $\bigvee_{\rho_r \in H_\rho} (\rho_a \star \rho_r)(\rho_x) = \bigvee_{r,t \in H} ((a \circ r)(t) \wedge \rho(x, t)) = \bigvee_{t \in H} \rho(x, t) = 1$ . Similarly,  $\bigvee_{\rho_r \in H_\rho} (\rho_r \star \rho_a)(\rho_x) = 1$ . Therefore  $\rho_a \star H_\rho = H_\rho \star \rho_a = \chi_{H_\rho}$ , for all  $\rho_a \in H_\rho$ . It follows that  $(H_\rho, \star)$  is a fuzzy hypergroup.

The fuzzy hypergroup  $(H_\rho, \star)$  is called a *fuzzy factor* or *fuzzy quotient hypergroup* of  $H$  modulo  $\rho$ .  $\square$

**Theorem 5.5.** *If  $\rho$  is a fuzzy regular relation on a fuzzy transposition hypergroup  $(H, \circ)$ , then the fuzzy quotient hypergroup  $(H_\rho, \star)$  is a fuzzy transposition hypergroup.*

*Proof.* Let  $\rho_a, \rho_b, \rho_c, \rho_d, \rho_x \in H_\rho$ .

$$\begin{aligned} (\rho_b \setminus \rho_a \wedge \rho_c / \rho_d)(\rho_x) &= \rho_b \setminus \rho_a(\rho_x) \wedge \rho_c / \rho_d(\rho_x) = (\rho_b \star \rho_x)(\rho_a) \wedge (\rho_x \star \rho_d)(\rho_c) \\ &= \bigvee_{r,t \in H} ((b \circ x)(r) \wedge \rho(a, r) \wedge (x \circ d)(t) \wedge \rho(c, t)) \\ &= \bigvee_{r,t \in H} (b \setminus r(x) \wedge t / d(x) \wedge \rho(a, r) \wedge \rho(c, t)) \\ &\leq \bigvee_{r,t \in H} ((b \circ t)(y) \wedge (r \circ d)(y) \wedge \rho(a, r) \wedge \rho(c, t)) \\ &\leq \bigvee_{z,w \in H} ((b \circ c)(z) \wedge \rho(z, y) \wedge (a \circ d)(w) \wedge \rho(w, y)) \\ &= (\rho_b \star \rho_c)(\rho_y) \wedge (\rho_a \star \rho_d)(\rho_y). \end{aligned}$$

Therefore, for each  $\rho_x \in H_\rho$ , there exists  $\rho_y \in H_\rho$ , such that

$$\rho_b \setminus \rho_a(\rho_x) \wedge \rho_c / \rho_d(\rho_x) \leq (\rho_b \star \rho_c)(\rho_y) \wedge (\rho_a \star \rho_d)(\rho_y).$$

Hence it follows that  $(H_\rho, \star)$  is a fuzzy transposition hypergroup.  $\square$

**Theorem 5.6.** *Let  $\mu$  be a fuzzy reflexive closed subsemihypergroup of a fuzzy transposition hypergroup  $(H, \circ)$  such that  $\bigvee_{p \in H} \mu(p) = 1$ . Then the fuzzy relation  $\rho$  on  $H$  defined by  $\rho(a, b) = \bigvee_{x \in H} ((a \circ \mu)(x) \wedge (\mu \circ b)(x))$ , for all  $a, b \in H$ , is a fuzzy regular relation.*

*Proof.* We have proved that  $\rho$  is a fuzzy equivalence relation.

$$\begin{aligned} \bigvee_{b \in H} ((b \circ d)(t) \wedge \rho(a, b)) &= \bigvee_{b \in H} ((b \circ d)(t) \wedge \rho(a, b) \wedge \rho(d, d)) \\ &\leq \bigvee_{b,c \in H} ((b \circ c)(t) \wedge \rho_a(b) \wedge \rho_d(c)) \\ &= (\rho_a \circ \rho_d)(t). \end{aligned}$$

Therefore  $\bigvee_{b \in H} ((b \circ d)(t) \wedge \rho(a, b)) \leq (\rho_a \circ \rho_d)(t)$ . Now by Theorem 4.19 we have  $\bigvee_{b \in H} ((b \circ d)(t) \wedge \rho(a, b)) \leq \bigvee_{r \in H} ((a \circ d)(r) \wedge \rho(r, t))$ , for all  $a, d, t \in H$ . Similarly,  $\bigvee_{a \in H} ((a \circ d)(t) \wedge \rho(a, b)) \leq \bigvee_{r \in H} ((b \circ d)(r) \wedge \rho(t, r))$ , for all  $b, d, t \in H$ . Therefore  $\rho$  is right regular. Similarly,  $\rho$  is left regular. It follows that  $\rho$  is regular.  $\square$

**Definition 5.7.** Let  $\rho$  be a fuzzy regular relation on a fuzzy hypergroup  $(H, \circ)$ . An element  $n \in H$  is said to be a *fuzzy scalar identity* for  $\rho$  if  $n \circ a = a \circ n = \rho_a$ , for all  $a \in H$ .

**Theorem 5.8.** *Let  $\rho$  be a fuzzy regular relation on a fuzzy transposition hypergroup  $(H, \circ)$  that has a fuzzy scalar identity  $n$ , then*

- (i)  $\rho_{a \circ n} = \rho_{n \circ a} = \rho_a$ , for all  $a \in H$ ,
- (ii)  $a \circ \rho_n = \rho_n \circ a = \rho_a$ , for all  $a \in H$ ,
- (iii)  $\rho_a \circ \rho_n = \rho_n \circ \rho_a = \rho_a$ , for all  $a \in H$ .

$$\begin{aligned} \text{Proof. (i)} \quad \rho_{a \circ n}(x) &= \bigvee_{r \in H} (a \circ n)(r) \wedge \rho_r(x) = \bigvee_{r \in H} \rho_a(r) \wedge \rho_r(x) \\ &= \bigvee_{r \in H} \rho(a, r) \wedge \rho(r, x) = (\rho \circ \rho)(a, x) = \rho(a, x) = \rho_a(x). \end{aligned}$$

Similarly,  $\rho_{n \circ a}(x) = \rho_a(x)$ .

Therefore  $\rho_{a \circ n} = \rho_{n \circ a} = \rho_a$ , for all  $a \in H$ .

$$\begin{aligned} \text{(ii)} \quad (a \circ \rho_n)(x) &= \bigvee_{r \in H} (a \circ r)(x) \wedge \rho_n(r) = \bigvee_{r \in H} \rho(n, r) \wedge (a \circ r)(x) \\ &\leq \bigvee_{t \in H} (a \circ n)(t) \wedge \rho(t, x) = \bigvee_{t \in H} \rho(a, t) \wedge \rho(t, x) = (\rho \circ \rho)(a, x) = \rho(a, x) = \rho_a(x). \end{aligned}$$

Also  $(a \circ \rho_n)(x) = \bigvee_{r \in H} (a \circ r)(x) \wedge \rho_n(r) \geq (a \circ n)(x) = \rho_a(x)$ .

It follows that  $(a \circ \rho_n)(x) = \rho_a(x)$ .

Similarly,  $(\rho_n \circ a)(x) = \rho_a(x)$ . Therefore  $a \circ \rho_n = \rho_n \circ a = \rho_a$ , for all  $a \in H$ .

$$\begin{aligned} \text{(iii)} \quad (\rho_a \circ \rho_n)(x) &= \bigvee_{r \in H} \rho_a(r) \wedge (r \circ \rho_n)(x) = \bigvee_{r \in H} \rho(a, r) \wedge \rho(r, x) = (\rho \circ \rho)(a, x) \\ &= \rho(a, x) = \rho_a(x). \end{aligned}$$

Similarly,  $(\rho_n \circ \rho_a)(x) = \rho_a(x)$ .

Therefore  $\rho_a \circ \rho_n = \rho_n \circ \rho_a = \rho_a$ , for all  $a \in H$ .  $\square$

**Theorem 5.9.** *Let  $\rho$  be a fuzzy regular relation on a fuzzy transposition hypergroup  $(H, \circ)$  that has a fuzzy scalar identity  $n$ . Then  $\rho_n$  is a fuzzy reflexive closed subsemihypergroup of  $(H, \circ)$  such that  $\bigvee_{p \in H} \rho_n(p) = 1$  and  $\rho$  is the relation equivalence modulo  $\rho_n$ .*

$$\text{Proof. } \bigvee_{p \in H} \rho_n(p) = \bigvee_{p \in H} \rho(n, p) = 1.$$

$$\begin{aligned} (\rho_n \circ \rho_n)(x) &= \bigvee_{r \in H} \rho_n(r) \wedge (r \circ \rho_n)(x) = \bigvee_{r \in H} \rho_n(r) \wedge \rho_r(x) \\ &= \bigvee_{r \in H} \rho(n, r) \wedge \rho(r, x) = (\rho \circ \rho)(n, x) = \rho(n, x) = \rho_n(x), \text{ for all } x \in H. \end{aligned}$$

It follows that  $\rho_n$  is a fuzzy subsemihypergroup of  $H$ .

$$\begin{aligned} \rho_n / \rho_n(x) &= \bigvee_{r \in H} \rho_n(r) \wedge (x \circ \rho_n)(r) = \bigvee_{r \in H} \rho_n(r) \wedge \rho_x(r) = \bigvee_{r \in H} \rho(n, r) \wedge \rho(r, x) \\ &= (\rho \circ \rho)(n, x) = \rho(n, x) = \rho_n(x), \text{ for all } x \in H. \end{aligned}$$

Similarly,  $\rho_n \setminus \rho_n(x) = \rho_n(x)$ , for all  $x \in H$ . It follows that  $\rho_n$  is fuzzy closed.

By Theorem 5.8,  $a \circ \rho_n = \rho_n \circ a$ , for all  $a \in H$ . It follows that  $\rho_n$  is fuzzy normal.

Therefore  $\rho_n$  is a fuzzy normal and closed subsemihypergroup of the fuzzy transposition hypergroup  $(H, \circ)$  and hence, by Theorem 4.13,  $\rho_n$  is fuzzy reflexive.

$$\bigvee_{r \in H} ((a \circ \rho_n)(r) \wedge (\rho_n \circ b)(r)) = \bigvee_{r \in H} \rho_a(r) \wedge \rho_b(r) = (\rho \circ \rho)(a, b) = \rho(a, b).$$

Therefore  $\rho(a, b) = \bigvee_{r \in H} ((a \circ \rho_n)(r) \wedge (\rho_n \circ b)(r))$ , for all  $a, b \in H$ . It follows that  $\rho$  is equivalence modulo  $\rho_n$ .  $\square$

**Acknowledgements.** The author is grateful to his respected supervisor Dr. M. K. Sen for his whole-hearted contribution to build up the paper. The author also expresses his deep gratitude to the learned referee for his valuable suggestions.

#### REFERENCES

- [1] R. Ameri and M. M. Zahedi, *Hypergroup and join spaces induced by a fuzzy subset*, Pure Mathematics and Applications, **8** (1997), 155-168.
- [2] R. Ameri, *Fuzzy (transposition) hypergroups*, Italian Journal of Pure and Applied mathematics (to appear).
- [3] P. Corsini, *Prolegomena of hypergroup theory*, Aviani Editore, 1979.
- [4] P. Corsini and V. Leoreanu, *Applications of hyperstructure theory*, Kluwer Academic Publications, ISBN 1402012225 (2003).
- [5] P. Corsini and V. Leoreanu, *Fuzzy sets and join spaces associated with rough sets*, Rend. Circ. Mat., Palermo, **51** (2002), 527-536.

- [6] P. Corsini and I. Tofan, *On fuzzy hypergroups*, Pure Mathematics and Applications, **8** (1997), 29-37.
- [7] B. Davvaz, *Fuzzy  $H_v$ -groups*, Fuzzy Sets and Systems, **101** (1999), 191-195.
- [8] J. Jantosciak, *Transposition hypergroups: noncommutative join spaces*, Journal of Algebra, **187** (1997), 97-119.
- [9] A. Kehagias, *L-fuzzy join and meet hyperoperations and the associated L-fuzzy hyperalgebras*, Rend. Circ. Mat., Palermo, **51** (2002), 503-526.
- [10] V. Leoreanu, *Direct limit and inverse limit of join spaces associated with fuzzy sets*, Pure Math. Appl., **11** (2000), 509-512.
- [11] F. Marty, *Sur une generalization de la notion de groupe*, 8<sup>ieme</sup> Congres des Mathematiciens Scandinaves, Stockholm, (1934), 45-49.
- [12] V. Murali, *Fuzzy equivalence relations*, Fuzzy Sets and System, **30** (1989), 155-163.
- [13] A. Rosenfeld, *Fuzzy groups*, J. Math. Anal. Appl., **35** (1971), 512-517.
- [14] M. K. Sen, R. Ameri and G. Chowdhury, *Fuzzy hypersemigroups*, Soft Computing, **12(9)** (2008), 891-900.
- [15] L. A. Zadeh, *Fuzzy sets*, Inform. and Control, **8** (1965), 338-353.
- [16] M. M. Zahedi, M. Bolurian and A. Hasankhani, *On polygroups and fuzzy subpolygroups*, J. of Fuzzy Mathematics, **1** (1995), 1-15.
- [17] M. M. Zahedi and R. Ameri, *On the prime, primary and maximal subhypermodules*, Italian Journal of Pure and Applied Mathematics, **5** (1999), 61-80.

GOUTAM CHOWDHURY, DEPARTMENT OF MATHEMATICS, DEROZIO MEMORIAL COLLEGE  
RAJARHAT ROAD, KOLKATA-700136, INDIA  
E-mail address: chowdhurygoutam@yahoo.com